P.60

E{ﬂ%é% rJrlﬁﬁ_\ k]ﬁr & ‘rgé%‘
BO729 (el R e P 1,050 (1,000}
:ff—:I‘/hD—JbU;'\'.— W
2R Fw)i— X2
= I o e ] X2
iy 2 [ (Ve o g K
F o RME e
1o Rl R X D4 X2
60740 Unesr—3 e BN 735 700N
*¥ 0w FM2.3 x40 X7
30w FM23x20 X2
F£E 0w FM2Ax 1B ®E
i :
I NN—HILYUES
G086 WAL O A FUw 1,0207
A O—H—4F)wT
VA b=l
DA R M2 X0
alises WU 2B800IARU RS N0 1345
o 2
= —HRAR
Braf—IlF 03x06 =25 L 63077
Brai — I F 04 x0Y x 25 LF-M0272
FUZSA— 1013
50957 ERs 30 1600)
S
F v S M3 %08 x4
GoS68 - ] 1LFE0 (1,700
R A
61005 ANETAY T ¢ (20000 73 e AR
ARED f*:" 7/ FASB
61076
51007 315 {300
FLY %7 06 X1 - )
:"(ZI/TJI'M:— P
61078 =L D8 210 (200
S —Jhwd L
51079 R sy 1,050 01,0001 ) 7V B{THEM
A L difssly X1
61131 Y=y —F—htw FAS) 2625 (250000 = R M2 X 04T
T BIASE 2
Pras— I F 03 X077 %3 73077 # 4
="t =TP =LAt — w4
PEERIE T %4
F v R M3IxX 18 w2
TL—Fowiv— M3 XZ
51132 — W= FP—LASHF— LD 630 (600}
— W —P—ALIAS) ®E
rlekars =B R 315 (300
= —HUARR X2
70500 AR AH =T L —FR bwii— 470 400
ARESA T —FRA v )= X2
o bRl B3 X 03 X4
70502 AZAFIwi =5 188 (150
ASAPTWL $—=5§ 7
FOR03 RZAFIwiig L 158 (150:
oA Twi e X2
70504 A PRSI —¢6 210 200;
/al-_or,lm;—q:-s %7
83009 A A Tl FUWeRDE 2,840 (28000
)</‘/Cl—{9—7|/— FURWESQS 14




60022

80036

P61

BIES _BIEH/AE il mE

60022 PP EYNE] 315 (300)
AQwia o X2
EO DRV P15 X2

60434 ILNR—4—F—4LFB 683 (650)
IN—F—F—ALFB X
P—hLi v L32 X
A= F—hL11 X
FA0rF v M3 X
JL—Fovvy—M3 X

60622  ~NFULHH—2AC Assy (L-191022) 1,576 (1,500}
P U845 —2C Ass'y (L-191022) X1

61080 ALV RALE 840 (800;
AAVRAE x 1

61081 SGYwOFS 630 (600) 2RV ¥ W FSA T A=
PRl ard o X1
HS+ v IRV FMIX06 X4

61082 SGPwN=ZL—A4LL/R 4410 (4,200} ANV ¥ W ESAT 71—
FPult—27L—4LL/R X% 1

70008 YR F2 By ST— 375 (300)
RAFA W= X
v RV EMA X4 x4

70016 P—Lv I FL32 735 (700)
P—h¥ ¥y 7 FL32 %2

70020 HSORALN—=L32 525 (500}
S0 AVN—L32 x2

70038 SFZ4w FL32XxP14 840 (800)
SFSHw RL32XP14 X2

70104 H$#—RtEwv I —}8 525 (500)
$—ey FIL—FB xX10

70289 A0 A=L421 A20.0400)
SO AN 421 X2

70185 R—ILFP—4L1 210 (200)
A—ILP—LL11 %1

70496 SO0A XA NR—-L32(8) 525 (500)
20K A —L32(84H) x2

70506 SGPw =L —bL¥R—FTL—}

Pyl =L —bh¥R—FIL—F

840 (800) ANV Y WIS RITPA =
X2




80065

P.62

= ERPRE/ AR =

%@% NeSo E %0) &
NWESVH X1
P—h¥+ 7 FLI10 X1
PEEPAY X2
AHSMEIM2X 10 X2
Fv EM2 X2

60020 ILN—3—FP—AhF 525(600)
ILN—5—F—LF x1
F—Lip 7132 x1
p= e A o il | x1
AY SR M2 X08 1

60021 ILN—R—FP—LR 525(500)
ILN—R—F—LR x
Pob v 32 X
JaAv bR X
AHS/hEY M2x08 X

60022 ADwiia s 315(300)
Adwiia Ud x2
ADwia UwbHEy X2

60024 EFYIN-—2B 4200400) F AL Z AR IVEN S
ZEIIN-RB X
A bR— X
AHSPR M2 X08 X
F v M2 x

60025 EE I 1,260(1,200)
SFIILN— %3
P—byv 2 FL13 X
P—b¥ v 26 X
PEEVAS & x6
AYSNET M2X10 X6

60035 H—miw P 630(600)
F—fNwy F x1
F+w7AHI FM3IX08 x4
FSRH2vESIRIEM2E X 12 x12
Tl— vy v—M26 x12

60522 NP5 —2C Ass'y (L-191022) 1,575(1,500)
NP UL —2aC Ass'y (L-191022) x1

61080 AAVIAL 840(800)
ATVRAL X

61081 SGYrrOF2 | B30(600) AR W FSRAIFA =
P i il X1
H5F v IR M3 X06 x4

61082 SGPw =2l —A4LL/R 4.410(4,200) ANV e VPSS AT P —
Puli=7L—=4LL/R X &1

70003 xRV I Fu 525(600)
EE R e v X2

70008 VAR Fw/t— 3150300}
RAFA = x1
v kR M4 X044 X4

70012 FP—Li+ 7 FLI10 316(300)
FP—=i w7 L0 x2

70014 FP—hyv 7 FLI13 420(400)
P—L v T HLA3 X2

70015 FP—Lyv 7 HL26 £30(600}
FP—bv 7 HL26 x2

70016 FP—Liv 7 L32 735(700}
FP—iv T 32 x2

70017 AN—H—A IXBX45 210(200)
AN—H—A3Ix8x45 X2

70018 AN—H%—B IXEXbb Z210(200)
AN—=H—B X2

70013 TFVLINR—RLZORAAV N~ 315(300)
TFLON—ZLO0RAVN— x1

70020 SO ANR—L32 525(500)
SORAWNR—L32 X2

70289 HORAN— L4 4200400]
HORAT— L x2

70496 Z0R A N—L32(BH) 525(500)
SO0 AL NR—L32(B) x2



-
80013

80012

P.63

BRES BREH/ARE il wE

60028 Z0V Ry E 630(600)
ZOV ERw x1
F v 7RI FM3X 10 X2

60036 PurtiA4F 210(200}
FPysHii14Z x3

60040 YDV Fa—F 26X5(1m) 526(500)
2 D F2—F26X5(1m) X1

60339 O="- FHF L —2 KO1T - 1,365(1,300)
O—NA 7L —2 K21 - x2
tw RV EM3 X4 x4

60851 VoE—Uwd 72 hi— 1,260{1,200)
H= )PP h— X1
ISR AvELIRIL EM2.6 X 10 X4
L= kv r—M26 x4

60856 VAaFy EF = 1,050(1,000;
AFy FA = x4
* v R EM3IX08 x4
F v IR EM3IX 12 x4
TL— 2wy —M3 X4

61059 WHE A 5(420cc) 1,890(1,800)
BB~ 5(420cc) X1
w2 Zw T IB X
RvHF0Aw B X
RUOAEY X
2O Fa-—T25X36X250 X
Dwe—07x12X1 X
Fv M7 X
MBS ORI — X4

61066 HMA+w HOYI8147) 1,0560(1,000})
HMR¥v FOVSa14) X2
2Fv F+yru x4

61083 SGaFP—2ZL—4 4,410(4,200)
OP—2b—4 X2

61084 ar—rPuIl 840(800)
OF7—=PrH) X2

61123 Bt HAS) 2,100(2,000)
O=NA FITL—X (KA k) X2
WA+w FOVFa1T) X2
HMAEy FErwT x4
v R - M3x4 x4

70021 S0 A I—L60 630(600)
HOAXN—LB0 X2

70023 [ EE R 210(200)
W%y F++vS X4

70025 AAwFLN=Th 210(200)
AAWFAUN—Th x4

70034 E 2 SRS — 525(500)
e SRV — x4

70106 AvhErev ey 630(600)
R wTIUB X
Av5504v B X
RLAEY X
DDV Fa2—F25%x36X%150 X
Dy y—07X12X1 X
F+ v FM7 x

70177 HOAAVN— 126 525(500)
SORAAVI—L26 x2

70225 2R—H—L12(F35) 315(300)
AN—H—L12(F3) X6



80189

82287

82286

80014

60865

P.64

HEmR AR ik} wE

60041 Tl i—A~—tw FL430 735 (7000
F— Y R—8— N1 7L430 x1
T R—4—BAY0R A= X
FolHYR—H—TIVF X
Few R EM2.EX 12 X
F v IR FM2.EX 15 X
* 4w 7RI M3 X08 x2

60042 F— I R—&—/%1 1430 420 (400)
F— Y R—%&—)5rFL430 X1

60043 F—HR—S—BRNL0RX N — 210 (200)
F=lb—S—BgSO0R A )~ X
* v TR EM2.6 X 15 x
* v R M3 X08 X2

60044 F—IHR—R—TF 105 _(100)
FY—H-—TF x1
* v TR FM2E X 12 X1

60072 SR—SF0Av 210 (200)
SH—FoAv x4

60293 F—LOw FHA FBEwV F 736 (700)
F—LOv FHTFB x4
Ov FHAAE x1
F—OvEACMFAZ—B X4
aw FAAFAS— X
F v IR M3 X0 X
IS5 AR v SR FM2 X 08 X4

60733 F=NS AT RIS — 683 (650)
TN T RIS — x2

60865 VAE - Eﬁitv = 998 (950}

X
x

* v R M3 X08 X2
+ v SR FM3IX 10 x2
F10Ory+v M3 X2

60866 VF—I = =45 525 (500)
FUHR—R—55TU x1
F Y= —55 T x1
Fru R EM3IX12 x2
F v TR EMIX 15 X1
F10v+w M3 *3
FL—F2vd¥—M3 X2

70025 A wFHN—Th 210 (200)
RAWFA =T h X4

70526 AT —HfgxY 210 (200)
RF« Rz x4

80189 A FSAEY SRV M2EX06 158 (150)
A FSARvEVSIRI M2EXOE X8

82286 RF4 —&wv b 4410 (4,200)
RFE1— X1
SH—=FO0Xv x4
RuFF b x1
A FSRAEVEVIRILE M2EX06 %8

82287 *+ /E— (AS) 1470 (1,400}
F+ /E— (AS) x1
AFSZAVEVIRILE M2EX0E x8

83066 F— LN FLE30 1,260 (1,200)
F—I 1 FLE30 X1

83068 F=JIOvFO=b0Ow FLE12 493 (450}
F=JDv FO0—Oy FLET2 x1
A ek, 31V BV X2



L6 8{][3\'@4

. '-x".
d
81003 | |AF

53057

T EID12

60055

P.65

P

7

e
Ietah ol -

0050

[SIHVIFES

1—)sl

T
JE—

= F=l—=

AT AR K

GOBG2

205725

—~—AA

W R 2
GO2G4
EOBES Vil BEEE b 958 (G500
HEER X1
=EE% % —
Frw Rl -M3X08 x2
T S EM3X 10 o
+F 0 F ey FV3 2
651085 FHAL S ABITF 24 V=300 1,050 1,000
HIRAFT T P RF w130 x1
62132 1h'7 {16000
- B X1
Kt e 2 b 630 600 ~ .
T F STy ke Tt %1
AT A2 X3 X1 .

)

i

WRZAREUGRY T

FoLAA FUSERU—

-
o



%?f B2/ AT E? wE
7 PERREY v N V] (1507

DrwTaForIVE X2
Sy VI PRIV EEY X2
CAFSHERM2 x4
70011 DAYV IFPORP—L 525 (500)
Dy aPIOEF—h x2
FP—hYy2 FLI0 X2
RKIRSAH—105 x4
Fyv IR FM3IX 15 %2
FL—Fowyv—NM3 %2
AFSMEIM2 X 10 x2
P EEVIY x2
70012 F—L¥ ¥ FL10 315 (300)
FP—by+ 7 L0 %2
70083 v75—=vwFl 210 _(200)
¥75—=—wll X2
70184  R—JUFP—ALLI 210 _(200)
R—WP—4LL9 X1
70201 R—JLP—LLAB 210 (200)
RV P—LLAE %1
70474 F—FD—ZN—H— 210_(200)
F—FO—-2ZN—Y%— X1

P.67



80045

JI—WU R
%%9%’6‘ BREH/AE E? e
=% w FCCPM (30
2= N=Hu s X6
+¥0w FM2.3X30 X
F¥0Ow FM2.3 x50 X
*¥YOw FM2.3 %930 X
£1094 U —3SJewy - MPM (30) 840 (800) MPM A
A ="M s X 16
F¥0w FM2.3X30 x1
30w FM2.3x%45 X2
30w FM2.3X55 X1
+30w FM2.3 X658 x2
=¥V0Ov FM2.3X90 x1
230w FM2.3% 120 %1

P.68



